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w = f ( x , y ,z) = X , 4 , Z

Domain , range , graph

ExI (A few was ext
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x +z = 1 +y
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D EasyLimits

Basic limits :
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lim C =< <cost
(y, y) - (a ,4)

⑬ Operations
S Properties of limits :

Im f(x
,) = L

(y , y) +(a ,b)

linf
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,

b9(x2) = M

Ther
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(1m(f+q) = L + M

2 , km f - g = L- M

3. Im C = ch(scost)
4
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lim F = L

7, Imf = "F

(n >01 Luo if n even

8. If h : /R-R continue

at X
= L

, then

Im h(f) = h(L)
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⑫ 3 + y
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Find limit along live

y - axis/y - ax

**S : y = J
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Ilmye =0
Y

EY y
= X

=
= 0

x line shope m to
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yuy=

xin2 = 0

Try painalong paralya
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Im y = xh

xyn =yu
lim it PNE



(N : z
= my , m

=0)

3.
2

d
&3 : z= f(x, n)

The Et Partialderivatives

of z = fix , y) are

fy(y , y)=myf(x,)

fy(x,y)=im
f(xcytD-fell
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Notation: +x=x
=Ex
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+
7
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y
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